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𝑂𝐴 =  

𝑂 

𝑂𝐴′=   

Draw the image of 
the shape 

This shape is to be 
enlarged by scale 
factor 2 

𝑂𝐴 =  

𝑂𝐴′=  

𝑂 

𝐴 

This shape is to be 
enlarged by scale 
factor 3 

Draw the image of 
the shape 
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2 
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𝑂𝐴′=  

This shape is to be 
enlarged by scale 

factor 
1
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𝑂𝐴 =  

𝑂𝐴′=  

Draw the 
transformed shape 

This shape is to be 
enlarged by scale 
factor -2 

𝐴 
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𝐴 

Draw the 
transformed shape 
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𝐴𝐵⃑⃑⃑⃑  ⃑



 

                                                     𝑎                                                            𝑎

𝑎



 𝐵𝐶⃑⃑⃑⃑  ⃑ 𝐶𝐷⃑⃑⃑⃑  ⃑ 𝑎 𝑏

  𝑏

𝑎

𝐴𝐵⃑⃑⃑⃑  ⃑

𝑎 𝐵𝐶⃑⃑⃑⃑  ⃑ 𝑏 𝐴𝐶⃑⃑⃑⃑  ⃑ 𝑐

𝒂

𝒃

𝒄



𝑎 =  (
𝑥𝑎

𝑦
𝑎
) 𝑏 =  (

𝑥𝑏

𝑦
𝑏
)

𝑎 =  (
4

6
) 𝑏 =  (

−2

−3
)

𝒂 + 𝒃 = 𝒄

𝒂 + 𝒃 = (
𝒙𝒂

𝒚𝒂
) + (

𝒙𝒃

𝒚𝒃
) =  (

𝒙𝒂 + 𝒙𝒃

𝒚𝒂 + 𝒚𝒃
)

𝒂

𝒃

𝒄

𝑥𝑎 𝑥𝑏

𝑦𝑎
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5:
1

2Calculate the following:

If A = (-3, -1) and B = (9, 3), find the vector from A to B.

__________

a) 

If A = (9, 4) and B = (2, -4), find the vector from A to B.

__________

b) 

If A = (2, -9) and B = (4, 1), find the vector from B to A.

__________

c) 

If A = (6, -7) and B = (-2, -5), find the vector from B to A.

__________

d) 

6:
1

2Calculate the following:

Find the magnitude of the vector 
æ
è
-6
3

ö
ø
.

__________

a) Find the magnitude of the vector 
æ
è

4
-6

ö
ø
.

__________

b) 

Find the magnitude of the vector 
æ
è
-6
-1

ö
ø
.

__________

c) Find the magnitude of the vector 
æ
è
-3
-8

ö
ø
.

__________

d) 



 

 

𝐴𝐶⃑⃑⃑⃑  ⃑ 𝑎 𝑏

𝐴𝐵⃑⃑⃑⃑  ⃑

𝐵𝐶⃑⃑⃑⃑  ⃑ 𝐴𝐶⃑⃑⃑⃑  ⃑

𝒂

𝒃

𝒂 + 𝒃 = 𝒄



𝐴𝐷⃑⃑⃑⃑  ⃑ 𝑎 𝑏 𝑐

  

𝐴𝐶⃑⃑⃑⃑  ⃑ 𝑎 𝑏

𝒃

𝒂
𝒄

𝒂

𝒃



 

      

𝐴𝑌⃑⃑⃑⃑  ⃑

𝑂𝑌⃑⃑⃑⃑  ⃑



  

 

 

 

 

 









 
 

 

 
OAB is a triangle. 

 

M is the midpoint of AB.  
OMN is a straight line such that ON : OM = 3 : 2 

Find, in terms of a and b, an expression for the vector .  
Write your answer in its simplest form. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 
 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝐴𝐻⃑⃑⃑⃑⃑⃑ = 𝒂 𝐴𝐸⃑⃑⃑⃑  ⃑ = 𝒃

𝒂

𝒃
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(16) Two vectors are defined as follows: 

 

 
 

Find the value of cos( )ACB in its simplest form. 
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___________________________________________ __________________________  

 

_____________________________________________________________________  

 

_____________________________________________________________________  

 

_____________________________________________________________________  

 

_____________________________________________________________________  

 

_____________________________________________________________________  

 

_____________________________________________________________________  

 

__________________________________________________________ ___________ 

 

_____________________________________________________________________  

 

_____________________________________________________________________  

 

_____________________________________________________________________  

 

_____________________________________________________________________  

 

_____________________________________________________________________  

 

_____________________________________________________________________  

                    (Total for Question 15 is 5 marks) 
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